The National Health Service                                 11th form
The National Health Service came into existence in 1948, to give completely free medical treatment of every kind to everyone needing it.

People who are ill first go to see their GPs, who treat minor illnesses themselves. These family doctors work alone or in partnerships when necessary go to see patients in their homes. General practitioners refer people to hospitals, if necessary, to more specialized treatment, also free of charge. Doctors and others who work in hospitals are paid salaries, full time or part time, graded according to their jobs, with consultants at the top.

England is divided into 14 regions based on university medical schools; each region is divided into about ten to fifteen districts, based on major hospitals. Regions and districts have governing boards appointed by the Secretary of State for Health. 

Most dental treatment is carried out in the dentists surgeries which are scattered around all towns. The dentists are paid from health service funds for each item of treatment. At first their patients did not have to pay, but later part-payment became necessary, and now people must pay even for check-ups which find nothing wrong. Only children and a few others are exempt.

Nowadays as old hospitals are closed and new ones built, the total number of hospitals beds has been reduced, and some cannot be used because there are not enough nurses to care for patients in them. Patients suffering from painful illnesses are waiting many months for treatment.
The government proposed some reforms designed to make the National Health Service use its funds more efficiently, with new elements of competition. Individual hospitals were to be free to choose to be independent of their district health authorities, and to get their funds directly from the government, with their own budgets.
Test

1. General Practitioners treat … illnesses themselves.

a) many;

b)  minor.

2. GPs refer people to hospitals…   .

a)  because they cannot treat people themselves.

b)  for more specialized treatment.

3. England is divided into 14 regions based on …

a)  major hospitals.

b)   university medical school.

4. The dentists are paid from …

a) health service funds.

b) their patients.

5. At first people  …. For their dental treatment but  now they …

a)did not have to pay.. have to pay even for check-ups.

b) had to pay .. are exempt.
6. The total number of hospitals beds has been reduced because …

a) old hospitals are closed and new ones built.

b) people are healthy.

7. The Government proposed some reforms…

a) to control the  National Health Service.
b) to make the National Health Service use its funds more efficiently.

